L JOSILWS [op pepliqesuodsal Uos A S0}081100 SjUSIS|QEUOZES UOS ‘SEJOU SNS A SOIIOUBUIY SOPEIST SO| anb sowele|osp pepien Jioap ap ejsajold ofeq,

j - j ] j ouJsiqos) 8p seuspIQ ..
) $ $ $ $ $ $ A sajanIN sejualelig a1jug sauopelody A sauoioedioiued ‘selousiajsuel | (24
- $ - $ - $ - $ = $ = $ epnaq e| ap oJaloueulq 0}s0Q / B2l|and epna( e| ap sauoiooesuel | Iy
- $| - $| - $| - sl - $| - ¢ S2.0119)JUYy S2UOIdUN- Ud Sepedijise|) ON Sesj0 ¥
- $ = $ = $ s $ T $ ¥ $ SOOIWIOU0oT SOJuUNsSY sonQ A selisnpul sesjo ‘6°¢
- $ 5 $ - $ - $ = $ - $ ugloeAouu| @ ejbojousa] ‘elousld ‘8¢
- $ = $ = $ - $ = $ - $ owsun S
- sl - $ g $ = $ = $1 - $ SBUOIOBDIUNWOYD ‘9'¢
- sl - $ g $ - $ 3 $ - $ ajodsuel | ‘G'E
- $ = $ 3 Slles" = $ = $ = $ uoIooNNISUO0Y A seinjoejnuely ‘erisuli bel
- $ = $ 3 $ - $ = $ i $ ejbiauz A sajqnsnquod e'e
- $ z $ = $ - $ - $ E $ eze) A osad ‘ein)noiA|lg ‘eliendadolby ‘Ze
- ¢ - ¢ - ¢ - $ - ¢ - $ |eJauan) us ss|elogeT A s8|elolawo)) ‘SOoILQUODT SOUNSY ‘1'e
- $ = $ = $ = $ = $ - $ 0921Wou093 ojjoliesaq ¢
- $ = $ 7 $ = $ Z $ = $ $9|BID0S SOJUNSY SOJ}0 ‘12
- o s $ = |- $ i $ = $ [e100g UoI093)0.1d ‘9
- s - $lE $| - | - | - $ uoedNp3 5T
- ¢ - o s $] - $| - $| - $ S9|eI00S SBUOoIoB)SajiuB|\l SBIIO0 A Bin)n) ‘ugioealoay Ve
2 $| - $1 - | - Sl $| - $ pnjes '€
- $ . $ = $ : $ 2 $ 3 $ pepiunwio? e| e soloiAIag A BpualAIn 27
- $ = $ : $ s $ 7 $| - $ [elusIquIY UQI008}0.d ‘12
= $ % $ ¥ $ 7 $ = $ = $ |e1d0s ojjoliesag 4
- P [ $ z $ 5 $ = $ z $ s9|elousn) SOIDIAIBS SO0 ‘81
- $ y $ F $ = $ = $ 7 $ Jolgju| pepLnbag ap A oo)gqnd uspiQ ap sojunsy L)
- $ = $ s $ 2 $ = $ 5 $ |euoioeN pepLnbag ‘ol
- s - $ 7 $ 5 $ - $1 - $ sollepuadeH A soleioueuld sojunsy G’
- g = $ = $ = $ ” $ F $ salols)xg sauoioe|ay Bl
- $ - $ - $ - $ ¥ $ - $ 0ulaIgqos) ap BOIIIOd Bl 9P UQIoBUIPIO0D el
- i $ 3 $ - $ z $ X $ episnp ‘7l

90 LPS'PPe'L | 8€TeL6Y9’L  $ | 8€TeLer9L  $ | vreaTver'e $ | 00'LGE'Y $ | vrzie'eer’'e $ uoioe|siba 1l

90°LYS v¥8°L ¢ | 8czeL'6¥9'L  $ | 8¢TTLi6V9) $ | vire9e'vev'e $ | 00'LGE'Y $ | ¥¥'zLe'e8v'e $ oula1009 L

(p-¢)=9 g v (2+1=¢) 2 I :
opinisogns opebed opebussag opesipon MMM“M__MM_._.%H% opedqoidy ojdasuo)n
soseib3
onmmam_.w.mwwmw:z ¥20¢ olunr ap ¢ e osau3z ap Lo [2d T i
A (uoiound A pepijeuld) jeuoidund uoisesiise|d aYGINILILIdNO)

sosaibg op ojsandnsaid |op o1o1949(3 [op odNjijeuy ope)sg
0a=zxVY1 OAINN 3d OIdIJINNIN T3A VORALXE OIDHINOD 13 A AVAIAILILIdINOD V1 ViVd OLNLILSNI

¥'60 mo_hmumm:.w:mmi S9WIOJU| & SOpE]S:



4 Josiwa |op pepljigesuodsal Uos A SO}09.I00 SJUBWS|JeUOZE) UOS ‘SBjou SNS A sosajoueul Sope}s so| enb soweie[osp peplaa J19sp ap ejssjoud oleg,
Oomxf O\S:z 3d
3 "
7
VAILVYLSINIAQY Yd0aVv, TVYINID ¥ ._.um_z_n_\
Z919d BASNUE[|IA 9 SBIDBIN zonbze/ OUBIAIA 01190y "3U]
\\hd\\ B
7
ooFNm.{_‘vw.r $ | 8e'zeL'6v9'L $ | 8€°2TL'6V9')L $ | ¥¥E9T'V6Y'E $ | oo'LSEY $| vvcieesr'e $ s3viol
- $| - 3 $| - ] e $| - $ S2.I01I8)UY S3|edSsI4 SOIo1019[7 ap sopnapy by
= $ = $ 2 $ = $ 5 $ b $ 0J8joUBUI{ BWA]SIS |Op Ojusiwesues ey
(p-¢)=9 [ v (2+1=g) 2 0 ;
: : e (sauoioonpay
olalaislonhs opebed o_ommcgmn, opesiiponl |seuooeduy opegqoidy ojdesuon
soseiba
oazv1 OAINN ¥¢0g owunf 8p 0¢ |€ 043U3 9p 10 19 HOINILND OIIUIWOD = 4
P (uoioung A pepijeuld) jeuoidung uoioeayise|d QYAINILILIAWNOD
so0saib3 ap ojsandnsaud |9p 01912437 |9p 021)ljeuy ope)ss :
0a=a¥v1 OAINN 3A OIdIDINNIN T3A JOI¥3ALX3 OIDH3IINOD 13 A AVAIAILILIdINOD V1 VHvVd OLNLILSNI Ve

mo_._mﬂmm_,_w nsaid SaWIoju| © Sope}s:




